Equacionstrigonomeétriques
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Ccos X =£
2

sin 3x =1

tg 3x =0

Ccos X =cotg X
sn X + cos x=1

sin [x+£) =1
2

2 cos X +1=0

2 x —sin x=1

2sin
2 sinx =tg x
2cos’ X =cos 2x + 1

COSX + sSin2x =(sinx + cosx)?

tg x= —/3
cotg x= -1
sec X= -2
Ccosec xX= 2
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tg> x 3tg x + 2=0
cosx= -1

tg x= /3

secx=1
. 5
sinx + cos’ X:Z

cosx=1 — sin X
2 sin’x - tg x=0

SinX + COSX=

S

cotgx + tg X
cotgx — tg X

N

3sinX+cosx=2
sinx—3cosy=-1

tgx =2

3
tgxX =—
g 3

. v
Sin X =COS(X+§)

cos’ X =sin?x
6Cc0s° X +c0s2x=1



